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= E=1ERE| 695 | 18 | 24 300 490 50 100 | 1,677 3,354
?/T EOBME| 695 | 18 | 24 390 490 50 100 | 1,767 3,534
o E=3EkME| 695 | 18 | 24 650 (1,310 90 100 | 2,847 5,694
1 E=4eamE 695 | 18 | 24 1,380 | 1,640 o0 100 | 3,907 7,814
= E=1mE| 740 | 18 | 24 300 490 90 100 | 1,722 3,444
?/T E=ommE 740 | 18 | 24 390 490 90 100 | 1,812 3,624
™ E=3mE| 740 | 18 | 24 650 (1,310 90 100 | 2,892 5,784
2 E=aems 740 |18 | 24 1,380 | 1,640 o0 100 | 3,952 7,904
= E=1amE 801 | 18 | 24 300 490 90 100 | 1,783 53,520
?/T\ F=2mmE 801 | 18 | 24 390 490 50 100 | 1,873 56,220
i E=3mE| 801 | 18 | 24 650 (1,310 50 100 | 2,953 88,620
3 F=4emE 801 |18 | 24 1,380 | 1,640 o0 100 [ 4,013 | 120,420
= E=1EmE| 853 | 18 | 24 300 490 o0 100 | 1,835 55,140
?/T\ E=ommE 853 | 18 | 24 390 490 o0 100 | 1,925 57,840
i E=3EMmE| 853 | 18 | 24 650 (1,310 50 100 | 3,005 90,240
4 F=4eme 853 | 18 | 24 1,380 | 1,640 50 100 | 4,065 | 122,040
= E=1me 904 | 18 | 24 300 490 50 100 | 1,886 56,730
?’} E=2mme 904 | 18 | 24 390 490 50 100 | 1,976 59,430
i E=3mmE| 904 | 18 | 24 650 (1,310 50 100 | 3,056 6,112
° F=4eape 904 |18 | 24 1,380 | 1,640 50 100 | 4,116 8,232
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